Communications Level 2 Requirements
1. The LOW communications subsystem must be capable of transmitting data to the LRO

a. The LOW and LRO data transfer system must be compatible

b. The LOW data transfer error should be kept below 3%

2. The LOW communications subsystem must have a data transfer rate of at least 72,000 bits/sec

3. The LOW must have adequate data storage for the communications subsystem

a. LOW data storage is a minimum of 300 MB

b. LOW optimal data storage amount is .5 GB in order to avoid wasted time or data loss

4. The LOW communications subsystem requires a maximum power of 30 W

5. The LOW communications subsystem must be able to operate at a bandwidth from 1700-2300 MHz

